4. (4x 5pts) Evaluate the following integrals.
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1. (20pts) Let f(z) =2y 00 (0, c0). Find the point on the graph of f{z) closest to the point
(1/2,0}. JUSTIFY YOUR ANSWER!

Show your work! Please draw a around your answers!
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2. (§-44+13+5=25pts) Let f(z) = —F-.

(a) Find the domain of f(z), = intercepts and y intercepts.
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(b) Find the asymptotes of f(z).
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(¢) Find the intervals of increase/decrease, intervals of concavity, local max/min and inflection

points of f{z).
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(d) Sketch the graph of f(z).

3. (8+7=15pts)
{a) Let F{z) m-f
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(b) Suppose that f(z) is a differentiable function with f{—1) = 1, f(0) = 4 and f(2) =

Find / f(z)dz.
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sec’(t)dt. Find F'(z).
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5. (20pts) Find the area between the curves y = v/3cosz and y = sinx on the interval [0, 7/2).
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Bonus.

Suppose that f(z) is a differentiable function with f"{z) < 0, f(0) = 5, f/(0) = 1. Show that
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